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SA I OoNRl
Hm: Lol =X =
TPl OHEEH L0l SEAHIA XY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ENEIESIEET
13,0003 %280 +2.5H 9,100
OMAS THIH=Q AAMHE AF(2809) 0
SIHZAY(EX) 175,500 144,000 31,500
== 43,875
Al 131,625
307 212+01& 175,500 144,000 31,500
< 43,875
Al 131,625
11 AIBI =AY X 175,500 144,000 31,500
OR2AZ AL (130)
4,5003 * 130 300 175,500
= 43,875
Al 131,625
Lo EESMEIAAMY XRA(EX) 4,457,452 3,895,998 561,454
[ 3,120,216
= 468,033
Al 869,203
307 el2to| & 4,457,452 3,895,998 561,454
[ 3,120,216
= 468,033
Al 869,203
11 AMEISXAIEEE 4,457,452 3,895,998 561,454
O ESSAHIAAY 4,457,452
= 3,120,216
[ 468,033
Al 869,203
COIEESS NI AA 516,000 460,800 55,200
301 EtE N = 516,000 0 516,000
02 A2 HSGS(FHAAHS, NLWE) 516,000 0 516,000
O oI E==SAHIA 2S5E 516,000
2AME FR2et X 890,326 1,228,827 A338,501
ZAFAIE 890,326 576,337 313,989
101 21AH| 39,463 38,89% 568
04 JIZtN2Z2 XS 2+ 39,463 38,8% 568
st 2 N =3 tlx oFY
161,9002 3 »23| x5 4,857
OS3H ¥ UHAHEX =8 Hx 2R
78,8802 x6 2 +33] 1,420
032X RHIE HM=E== o2y
08,6002 60 12,516
Osstd JIZHM 22X 212 20,670
ge22 78,8803 x1H %183 14,436
rEsdsd 78,8803 x1&x52& 4,102
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AHEE= 18,537,000& *11.5% 2,132
201 er23| 177,990 175,390 2,600
01 At22te|Hl 36,600 34,000 2,600
Osztd - satd - MHEA 24 25,000
Osstd s3td (Clvatel E9
1,300,000& *22] 2,600
O3t &3td A R3] 4,620
Os3td Na 22
8,000 x3Z*102x 12 2,880
Osstd 224 L=
250,000 x3H =23 1,500
2 S524g4l 141,390 141,390 0
Osztd - N AIZEH| FXl2el 90,000
OdalE st Z2lHIoe 2t
270,000 x9E 2K 4,860
Os&k= € MA 5,170,000 9 46,530
202 04| 4,800 4,800
01 =LHOHI 4,800 4,800
ORHz2R & S8R X s¥2el
0,000 «5E «12& 4,800
206 M=l 138,693 150,000 A11,307
01 MHZH| 138,693 150,000 A11,307
SeH JtA Y|
8692 *13,300kg* 12& 138,693
207 ARl 195,000 195,000
02 MR 195,000 195,000
Osste FASE=ZACIANLE 25 195,000
301 22N 6,400 4,800 1,600
14 JIEt2 8= 6,400 4,800 1,600
OFALD AHZAL Eefbl
1,600,000 x4H 6,400
401 AIZHIZ R0 324,980 55,452 269,528
01 Al&H| 324,980 55,452 269,528
Z2IE JISELSAHKSA BA HX)
150,000 *300m’ 45,000
Oszld 3tE2 RAES 7Y 279,980
etFot=E WA
5,565,000& x4 7|x33] 66,780
Aiet2=toldt w Xl
13,608,000& x4 7| *12] 54,432
LHSHCHRE WAl 5,700,000 4 0(+32] 68,400
SN wH 1,900, 0002 #4022 15,200
stz 328 89 9,700
ZHEN wH 294,0002 x8 I *43] 9,408
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ol AAE IR X (SHol: )
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2olAELH 405 uA
2,800,000& %12 2,800
- YF2LIoF =5 320,000 %47 |%23] 2,560
HUH2 7Y 504,000 %4 | %23 4,032
-0 DtZ W 9,500,000 *42[*12] 38,000
-ZuE 58 e
900,000 %47 |+23] 7,200
22 ¢ 78 367,000 x20H =23 1,468
802 gret=JIEt 3,000 2,000 1,000
03 JlEtetets S 3,000 2,000 1,000
OFAMAIE (S8, SHZ)ANER BHE 2
100, 000& »302 3,000
Zofel SXsa 22,169,106 21,185,090 984,016
= 11,564,815
= 2,644,820
Al 7,989,471
ZOHel MEEe| =29 =X & 15,086,055 14,855,982 230,073
= 9,448,514
[ 1,707,566
Al 3,929,975
oIz 20 XS (EX) 4,250,778 4,440,709 A180,931
= 2,981,845
== 383,380
Al 894,553
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= 2,981,845
= 383,380
Al 894,553
01 Al EE A S(FRNEXMA) 4,250,778 4,440,709 180,931
OFelAs X= 4,250,778
= 2,981,845
= 383,380
Al 894,553
=== (01x) N=(EX) 829,477 812,185 17,292
= 580,634
= 99,537
Al 149,306
301 LEtE N = 829,477 812,185 17,292
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Al 149,306
01 A2 HSFS(RNEERTHE) 829,477 812,185 17,292
OFu=¢g XI200I=) 829,477
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SA I OoNel 1t
. Zoje SXNSH
EHPl: ZOHQ! MEHo =2 SX B (St &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 5,120
=S 512
Al 768
301 EetE2 NS 6,400 5,255 1,145
= 5,120
= 512
Al 768
01 Al EE AT S (2 RDEXA) 6,400 5,255 1,145
OOl EXID] ue 6,400
2 5,120
= 512
Al 768
el 24 2l N 9,000 9,000
307 gl2tol & 9,000 9,000
11 AMISXAIEEX 9,000 9,000
O&ojel 2&+ +cldl XA 9,000
ol &M X 225,760 230,280 A4,520
307 212+01& 225,760 230,280 A4,520
02 LB HANHEE 50,560 55,560 25,000
OXHM IS ArE XA 15,000
OAIZH I HE 2] At X1 7,000
SOrelgal At X1 5,560
OFMHIR23] MY K& 8,000
OB=cHEM S A I 10,000
OESAHESHA=SAE2 A X2 5,000
03 2IIHHEE2SHIEx 175,200 174,720 480
OXNAH IS =24 28,700
OAIZEeIEs =g 28,700
Os0telgs 23 28,700
OZeR23e 24 28,700
OSCcdigiiegal =29 28,700
OdsNHLLEMA=XE 23 28,700
OLHMI=XE 29 3,000
NEFoHe! NHEXJAHEH 2H(E EX) 138,240 135,163 3,077
< 27,648
Al 110,592
307 elztol & 138,240 135,163 3,077
= 27,648
Al 110,592
10 Al SAAIEEHE 22X 138,240 135,163 3,077
OXNHZMHAXNHA ALY 2 138,240
= 27,648
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2A:

. Zoje SXNSH
EHPl: ZOHQ! MEHo =2 SX B (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 110,592
ZoHe! HoAAL MY 28(& EX) 110,734 98,716 12,018
== 29,898
Al 80,836
307 212+01& 110,734 98,716 12,018
< 29,898
Al 80,836
10 Al2IS XA EEE 22X 110,734 98,716 12,018
Ol HIAAIL X2HH 2E 110,734
= 29,898
Al 80,836
ZoHelel & ALK 17,000 17,000 0
307 @120l & 17,000 17,000
1 AMISXAIEEX 17,000 17,000
ONi443] HoHelel & JIEette 17,000
8 X&0l12 & AIZE0e =XItHal 4,000 4,000 0
307 212+01& 4,000 4,000
11 AMEISXAEEES 4,000 4,000
ORMI452] SXH0I2 & A&l =X 4,000
Al =0Z23HMl H = 10,000 10,000
307 212t01™ 10,000 10,000
11 AMEISXAEEXS 10,000 10,000
OE&Al =UHE3HNl = 10,000
2E A X1 11,900 13,000 1,100
301 EtE NS 11,900 13,000 1,100
11 #AIAHIXIE S 11,900 13,000 A1,100
O&= s0eltls 4243
40,0003 +65EF *12] 2,600
O&= XA N=XUz FA243
150, 0003 x4 & *13] 600
Od= NAFMH Mgl BH2a=
150,000 #4 & *13] 600
OAIZTE el & X0l 2dEd FA2a
= 10,0002 x30& *32] 900
O&s o t=lis E424=
50,0003 x202 *13] 1,000
Od= JIsd)l tal HHE4a=
20,0003 +x202*13] 400
Ogzd & M=FEX4g s0tel X=X Al
Lt A2 a= 150,0003 8 *13] 1,200
Od= N&HEaHM S S22
40,0002 ~40E *13] 1,600
Od= B SOt SHEUHE &
243 50,0002 +60 2«13 3,000
ZOojQId Al X& (et tel) (8X) 1,064,590 1,038,034 26,556




L QIZOH QI It
Zoel =XSd
ZOHQ! MEtHol £R¢ SX BT (SH &)
SA - FHB . C9(3) - MRAY - BAS A SimE==t
= 532,290
= 212,930
Al 319,370
307 gIzHol ™ ,064,590 1,038,034 26,556
= 532,290
& 212,930
Al 319,370
11 AL =SXAMEES ,064,590 1,038,034 26,556
OZO0He! LErE LRtel XA ,064,590
= 532,290
& 212,930
Al 319,370
ZONQI L Rt KIA (AR Rt (BX) 177,440 173,046 4,3%
= 88,720
& 35,490
Al 53,230
307 212+01 A 177,440 173,046 4,3%
= 88,720
= 35,490
Al 53,230
1 ASI=SXAIEEE 177,440 173,046 4,3%
OZO0He! AIRHH ZXtel X 177,440
= 88,720
= 35,490
Al 53,230
ZOHRI L Xt X (SXILAH2l) (EX) 483,650 445,429 38,221
= 241,830
= 96,710
Al 145,110
307 QIZt01 A 483,650 445,429 38,221
= 241,830
& 96,710
Al 145,110
11 Al =SXAMEES 483,650 445,429 38,221
Ol =XLXRtel NFAAS 483,650
= 241,830
& 96,710
Al 145,110
ZOHI LRI X (L HOHR LUEBSAH BZLRt2!)( 559,800 547,524 12,276
2x)
= 279,900
& 111,960
Al 167,940
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. Zoje SXNSH
Tl FOHOl MEHO| TR9 =X =X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 559,800 547,524 12,276
= 279,900
== 111,960
Al 167,940
11 AMEISXAEEES 559,800 547,524 12,276
OEZHMH LYLZS AL xRt 559,800
= 279,900
=S 111,960
Al 167,940
ZHOHQI L X2  XI 2 (A1 E0HQ! QHOFAL I ) (2 ) 37,310 36,445 865
= 29,840
=S 2,990
Al 4,480
307 21201 & 37,310 36,445 865
= 29,840
= 2,990
Al 4,480
1 AMISXAEEXS 37,310 36,445 865
OAIZTE 0! QFOFAF THHA AHH 37,310
= 29,840
= 2,990
Al 4,480
el sXE 20 XNA(EX) 4,505,485 4,601,778 A\96,293
= 3,153,839
= 405,494
Al 946,152
307 elztol & 4,505,485 4,601,778 296,293
= 3,153,839
< 405,49
Al 946,152
11 AMEISXAEEE 4,505,485 4,601,778 A\96,293
Ol 2K 4,505,485
= 3,153,839
== 405,494
Al 946,152
Z0H B#SEX IS H(ER) 71,604 54,474 17,130
= 50,123
== 6,444
Al 15,037
307 212+01& 71,604 54,474 17,130
= 50,123
= 6,444
Al 15,037
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A =QIE0HRI Dt
M HOHR EXSE
Tl FOHOl MEHO| TR9 =X =X (SHol: )
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
OAIZZ el SHHH HEAMHIA XIJAA 2,000
Qe SE=EXIE ga2x2 K2 2,000
401 AlEHIZ 20| 6,000 6,000
01 AlEHI 6,000 6,000
O MSEEF SEFHI| &X
3,000, 0003 *20H 6,000
406 JIEHAHE0|H 2,000 1,240 760
01 JIEtX+=201H 2,000 1,240 760
O & AlE MEE LXUESS 2,000
ZOHQ THE L AISIEO AIR(E BX) 52,878 50,633 2,245
& 15,863
Al 37,015
301 LEtBEF 12,288 7,920 4,368
= 3,686
Al 8,602
02 NBIEZESGS(HAAS, KLTHA) 12,288 0 12,288
OFHRl MEZEZ 12,288,000& 12,288
= 3,686
Al 8,602
307 QI2H0l A 40,590 42,713 A2,123
& 12,177
Al 28,413
" ASI=XAIEE X 40,590 42,713 AN2,123
OAIZEOS BXtn= 4,590
& 1,377
Al 3,213
OZOoie! orstna 24 36,000
= 10,800
Al 25,200
o4 &oNel EAHHIE KA (EX) 3,600 2,000 1,600
= 2,520
= 324
Al 756
301 LBENZ 3,600 2,000 1,600
= 2,520
= 324
Al 756
01 A 2&AH 2 ([ REETR) 3,600 2,000 1,600
O Zel EaHlE KNI 3,600
= 2,520
& 324
Al 756
ALY U™ XA(EX) 8,640 10,840 A2,200




SA I OoNel 1t
Hm: mojol =2XSA
EHPl: ZOHQ! MEHo =2 SX B (St &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 6,048
=S 864
Al 1,728
307 @I2to| & 8,640 10,840 A2,200
= 6,048
= 864
Al 1,728
1 AMISXAIEEXS 8,640 10,840 A2,200
OAANLE XA 8,640
= 6,048
= 864
Al 1,728
LETHEAMHIA B2 XIR(2X) 287,569 240,425 47,144
= 201,298
= 28,757
Al 57,514
307 elztol & 287,569 240,425 47,144
= 201,298
== 28,757
Al 57,514
11 AMEISXAEEES 287,569 240,425 47,144
OZ0HOts MEXSAHY 287,569
= 201,298
== 28,757
Al 57,514
LETOHR F=2AESAHIA KB (EX) 814,471 728,757 85,714
= 570,130
== 73,302
Al 171,039
307 212+01& 814,471 728,757 85,714
= 570,130
= 73,302
Al 171,039
11 AMISXAIEEX 814,471 728,757 85,714
LT F2AHESAMBIARIZ 814,471
= 570,130
= 73,302
Al 171,039
LR =2ESHHIA =50t XB(E EX) 34,884 88,033 A\53,149
== 10,465
Al 24,419
307 212+01& 34,884 88,033 A53,149
< 10,465
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SN COIFORQI D
. Zoje SXNSH
Tl FOHOl MEHO| TR9 =X =X (SHol: )
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 24,419
11 AMEISXAEEXS 34,884 88,033 A53,149
LI FHESAHIA =0 K& 34,884
s 10,465
Al 24,419
XS5 22T =2 JHE 20U XA 228,823 0 228,823
= 114,411
=S 34,324
Al 80,088
307 @12t0| & 228,823 0 228,823
= 114,411
= 34,324
Al 80,088
1 AMISXAIEEXS 228,823 0 228,823
Oz=S LEI0A =2t 2 LU X 228,823
= 114,411
= 34,324
Al 80,088
ZESS LEZ =2t OF LU BN XN 185,443 0 185,443
= 108,810
= 13,990
Al 32,643
307 elztol & 185,443 0 185,443
= 108,810
< 13,990
Al 32,643
11 AMEISXAEEES 185,443 0 185,443
OzISE 2L =2t 115 LU 8t2
A K& 155,443
= 108,810
< 13,990
Al 32,643
LoIfel LE SSMHIA KR (EX) 207,881 181,562 26,319
= 145,517
[ 18,709
Al 43,655
307 glztol & 207,881 181,562 26,319
= 145,517
== 18,709
Al 43,655
11 AMRISXAEEES 207,881 181,562 26,319
Oggdel 2= SHHIA T2 207,881
= 145,517
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35,000
4,500
4,500

30,500

30,500

486,401

107,215

107,215

107,215

1,150
1,150
1,150

327,299

MEE
Ofl &k2h

6,299,108

3,290,400

3,290,400

3,290,400

23,000
23,000
23,000

2,574,722

Ofl &F2H

1,058
35,000
4,500
4,500
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30,500
30,500
30,500

6,785,509

Al

i

2,083,530

iy

927,423

3,774,556

3,397,615

Al

H

679,523
2,718,092
3,397,615

H

679,523
2,718,092
382,600
1,530,400
841,115

3,397,615
1,913,000

Al
Al

iy

168,223
672,892

64,500

Al

H

12,900
51,600
322,000
64,400

257,600

Al

Al

257,000
51,400

205,600

H

24,150
24,150
24,150
24,150
2,902,021
2,031,415
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2A:

A ZoHel SXSE
Chol: ZOjOl =XIAL 2EX (Shol: % 2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 2,902,021 2,574,722 327,29
= 2,031,415
T 174,121
Al 696,485
10 IS SXAIEHE2ZHIEX 2,902,021 2,574,722 327,29
OFOHR H=AIE 28 K& 2,902,021
= 2,031,415
T 174,121
Al 696,485
Zopel Aglgaz X2 72,583 73,080 AN497
= 50,808
T 8,711
Al 13,064
301 LB F 72,583 73,080 N497
= 50,808
& 8,711
Al 13,064
01 AISIBEH 2GS (2 REXTME) 72,583 73,080 NA497
O&Foe! Adlgas K& 72,583
= 50,808
& 8,711
Al 13,064
ZOHCIFAIE BIIFHED| g NIAG(BEX) 2,178 4,156 21,978
= 1,307
& 261
Al 610
307 212+01™ 2,178 4,156 A1,978
= 1,307
= 261
Al 610
11 AR SXAMEER 2,178 4,156 A1,978
OZOHAHFAIE SIIEED| AERA 2,178
= 1,307
T 261
Al 610
a0l SSMEDIE 29 XA(E BX) 75,340 78,230 22,890
& 7,534
Al 67,806
307 212+01™ 75,340 78,230 22,890
& 7,534
Al 67,806
10 Al S XA EEE2IHIE X 75,340 78,230 A2,890
OXel S=MEIE 28 XA 75,340
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190,000

190,000

11,712
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2610
2610
A610
35,000
35,000
35,000

267,542

65,542

65,542

MEE
Ofl &k2h

180,000

74,000
74,000
74,000
1,520
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1,520

30,000

Ofl &F2H

7,534
67,806
190,000
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133,000
190,000
57,000
133,000
190,000
190,000
57,000
133,000
85,712
85,712
85,712

iy

Al

H

Al

W

Al

iy

42,8%
42,8%
910
273
637
910
273
637
910
910
273
637
35,000
35,000
35,000

35,000
297,542
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32,771

9,831
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